World Day Against Child Labour Quiz

. When is World Day Against Child Labour observed?
o a)June 10

o b) June 12

o c) May 12

od) July 12

(Answer: b) June 12)

. Which international organization launched the World Day Against Child Labour?
0 a) UNICEF

o b) UNESCO

oc)ILO

od) WHO

(Answer: ¢) ILO)

In which year was the World Day Against Child Labour first observed?
0 a) 2000

o b) 2002

o c) 2004

o d) 2006

(Answer: b) 2002)

. What is the primary goal of World Day Against Child Labour?
o a) Promote children’s sports

o b) End child marriage

o c) Eliminate child labour

o d) Encourage online education

(Answer: c) Eliminate child labour)

. What does child labour typically involve?

o a) Volunteering after school

o b) Paid internships

o ¢) Work that harms children’s health or education

o d) Group learning activities

(Answer: c) Work that harms children’s health or education)

. Which of the following is NOT considered child labour?

0 a) Helping parents at home occasionally
o b) Working in dangerous factories
o ¢) Begging on streets under threat



o d) Mining work by children
(Answer: a) Helping parents at home occasionally)

7. Which region has the highest number of child labourers?
0 a) Latin America
o b) Europe
o ¢) Africa
o d) North America
(Answer: c) Africa)

8. How many children globally are estimated to be in child labour?
o a) 50 million
0 b) 160 million
o ¢) 100 million
0 d) 200 million
(Answer: b) 160 million)

9. What is the minimum age for employment under ILO standards (in general)?
oa)12
ob) 13
oc)14
od) 15
(Answer: d) 15)

10. Which international agreement promotes the elimination of child labour?
o a) Paris Agreement
o b) UN Charter
o ¢) ILO Convention No. 182
o d) Kyoto Protocol
(Answer: ¢) ILO Convention No. 182)

11. What type of work is most common among child labourers?
o a) Teaching
0 b) Domestic work
o c¢) Agriculture
o d) Software development
(Answer: c) Agriculture)

12. Which Sustainable Development Goal (SDG) aims to end child labour by 20257
o0a)SDG 4
o b) SDG 8
oc)SDG 2
od)SDG 10



(Answer: b) SDG 8)

13. Which age group is most affected by child labour?
0 a) 5-11 years
o b) 12-17 years
0 ¢) 18-24 years
o0 d) 2-4 years
(Answer: a) 5-11 years)

14. Which of the following is a harmful effect of child labour?
0 a) Improved education
o b) Enhanced creativity
o ¢) Physical and mental harm
o d) Stronger family bonds
(Answer: c) Physical and mental harm)

15. Which action can help reduce child labour?
o a) Ignoring it
0 b) Supporting ethical products
o ¢) Hiring children for errands
o d) Promoting low-cost labour
(Answer: b) Supporting ethical products)



